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Which scale represents the highest form of
measurement precision?

a. Nominal .
b. Ratio

¢. Ordinal
d. Interval

Which of the following is also referred to as the
power of the statistical inference test?

a. B

2

b
C.
d

—
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If a weight loss firm claims its program leads to
an average weight loss of 5 Kg, then 5Kg is
?

a. Effectsize
b. Sample size
c. Alpha
d. Power

is applicable in situations in

which the total sample can be divided into .

groups based on a nonmetric dependent
variable characterizing several known classes.

a. Conjointanalysis
b. Cluster analysis
c. Discriminant analysis
d. Multiple correlation

Process of estimating the missing data of an
observation based on valid values of the other
variables is called ?

a. Effects Coding
b. Imputation

¢. Iferative process
d. Extrapolation
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10.

Mahalanobis D* is one of the methods to

detect

a. Outliers

b. Autocorrelation
c. Multicollinearity
d. Missing values

In effects coding the comparison or omitted
group is given the value of _ for the dumnmy
variables.

a. 0.
b. 1
c. -1
d. 2

If the tolerance value of a variable (X)) is .75.
what will be the value of the Variance Inflation
Factor (VIF)?

a. 1
b. 1.33
c. 1.99
d. 2

is used to denote 2 general approach t0
the study of reality that suggests that only
knowledge gained through experience and the
senses is acceptable.

a. Rationalism
b. Pragmatism
¢. Relativism
d. BEmpiricism

is an epistemological position that
advocates the application of the methods of the
natural sciences t0 the stady of social reality
and beyond.

a. Positivism
b. Reductionism
¢c. Determinism
d. Nihilism
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11,

12.

13.

14.

15.

An ontological position that asserts that social
phenomena and their meanings have an
existence that is independent of social actors is
called .

a. Interpretivism
b. Realism

c. Objectivism
d. Positivism

Which of the following is concerned with the
question of whether the results of a study can be
generalized beyond the specific research
context? '

a. Measurement validity
. Internal validity
Causality

External validity

oo o

Amethod thatis used to achieve an interpretative
synthesis of qualitative research and other
secondary sourcesis called .

a. Content-analysis

b. Meta-ethnography

¢. Thematic synthesis

d. Narrative literature review

Which of the following is not an important
factor involved when considering whether a
measure isreliable?

Stability

b. Causality

¢. Internalreliability

d. Inter-observer consistency

o

Quantitative content analysis is an approach
thataimsto  ?

a. Objectively and systematically measure the
content of a text

b. Reach an interpretive understanding of
social action

c¢. Engage in a critical dialogue about ethical
issues inresearch

d. Provide a feminist alternative to 'male-
stream' quantitative methods
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16.

17.

18.

19.

20.

The error of assuming that inferences about
individuals can be made from findings relating
to aggregate datais called_ .

. Ecological fallacy
. Informal fallacies
Inductive fallacies
. Verbal fallacies

[

N

A theory that was derived from data,
systematically gathered and analyzed through
the research process is called__.

a. Critical theory

b. Phenomenology
c. Discourse analysis
d. Grounded Theory

Which of the following advocates that reality is
all in the mind, that everything that exists isin
some way dependent on the activity of the
mind?

. Materialism

w

b. Reductionism
c. Idealism
d. Epistemology

Research that is designed to capture cause-and-

effect relationships by eliminating competing

explanations of observed findings is called
Research.

a. Focus Group
b. Survey

¢. Observation
d. Experimental

The best way to reach people who would not
give personal interviews or whose responses
might be biased or distorted by the interviewer
isbyusing
a. Mail Interview

b. Mall Intercept

c. Personal Interview
d. TVinterview
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21.

22.

23.

24,

Concepts or ideas about an object attribute, or
phenomenon that are worthy of measurement
arecalled

a, Hypothesis

b. Variables

¢. Constructs

d. Symptoms

The management decision problem focuses on
, while the marketing research
problem focuses on

a. symptoms; solutions

b. symptoms; underlying causes
¢. solutions; underlying causes ~
d. noneoftheabove

While obtaining secondary data before
engaging in primary research has its limitations
it also offers many advantages. Which of the
following is an example of these advantages?

a. Secondary data is always categorized into
units that match those that the researcher
seeks.

b. Secondary datararely exhibits bias.

c. Secondary data can provide ideas for the
methods to be used and the difficulties that
are likely to occur during a full-scale study.

d. Secondary data is generally current and up-
to-date.

Which of the following is true of qualitative
research?

a. Sample sizes are generally quite large,
which allows findings to be generalized to
larger populations.

b. Sample sizes are generaﬂy small, which
allows findings to be generalized to larger
populations.

c. Sample sizes are generally small, which
prevents findings from being generalized to
larger populations.

d. Sample sizes are generally quite large, which

prevents findings from being generalized to
larger populations.
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23.

26.

27.

28.

29.

30.

Which of the following plots each distribution
as a continuous line showing the frequencies
associated with each class?

Frequency polygon

b. Histograms

¢c. Ogive

d. Scatter plot B

®

How many percent (approximately)of the
observations will lie within two standard
deviations of the mean?

a. 68.2

b. 92.8

c. 954

d. 99.7

IfP(A)=1/13 and P (B)=1/(4 yand P (ANB)=
1/52 , what will be the value of P(A/B).

a. Y4

b. ¥

c. 1/13
d. 1/52

Which probability distribution is always a
positively skewed distribution?

a. Normal

b. Poisson

¢. Binominal

d. Continuous

If a moderately large number of items chosenat
random from a large group are almost sure on
average to possess the characteristics of the
large group. This is called .

a. Law of Statistical regularity

b. Gambler's fallacy

¢. Bernoullitheorem

d. Monte Carlo fallacy

Naturalism has been defined as ?

a. Minimising the intrusion of artificial
methods of data collection into the field. -

b. Being true to the nature of the phenomeria
being researched. :

c. Viewing natural and social objects a
belonging to the same dominion.

d. Alloftheabove.
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31.

What is a cross-sectional design?

a. A con’iparison of two or more variables
longitudinally.

b. Adesign thatis devised when the researcher
is in a bad mood.

¢. The collection of data from more than one
case at one moment in time.

d. Research into one particular section of
society.

32. What did Marx (1997) mean when he

33.

suggested that "intellectual puzzles and

‘contradictions" can be a possible source of

research questions?

a. The researcher may feel that there is a
contradiction in the literature, presenting a
"puzzle" to be solved,

b. Students can develop their IQ levels by
attempting to solve intellectual puzzles.

¢. Unless you can find a logical contradiction,
youhave no basis for conducting research

d. Anypuzzle canberesearched.

Read the following statements

I) Focus groups, unstructured or in-depth
interviews, and document evaluations etc.
are some of the methods used for data
collection

II) A mostly deductive technique for putting
pre-specified concepts, constructions, and
hypotheses or a theory to the test

III) It is more subjective, so describes an issue
or circumstance from the perspective of
those who are experiencing it

1V) More in-depth information on a few cases
with unstructured or semi structured
questionnaires

Which of the statement/statements is true
regarding qualitative research?

LIl and ITI

I, IandIV
IL Il and IV
LILITand IV
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14. Which of the below is true of a research report?

35.

36.

a.

b.

An ideal is to include every detail about the
research as fully as possible.

A research report gives every last detail of
the major and critical aspects of the
research process. o

A research report presents the stages of the
research accurately down to the last detail,
and in the order in which they occurred.

A research report does not give every last
detail but provides a clear synthesis of the
major and critical aspects of the research
process.

Which of the following statements about
plagiarism is most accurate?

a.

Which of the following isnota characteristic of .

Tt is so easy to "copy and paste” from the
internet that everyone does it iowadays. ifa
proper reference is given, where is the harm

. inthat?

How can we say for sure where our own
:deas come from exactly? If we tried to give
a reference for everything we could never
hope to succeed.

Any suggestion that we have written what
another actually wrote is morally wrong.
Anyway, the whole point of a literature
review is to show what we have read and
what we thought about it.

Plagiarism is such an awful crime that those

. found guilty should be publicly humiliated.

quotasampling?

a.

b.

The researcher chooses who t0 approach
and so might bias the sample

Those who are available to be surveyed in
public places are unlikely to constitute a
representative sample ' B

The random selection of units makes it
possible to calculate the standard erTor.

Tt is a relatively fast and cheap way of
finding out about public opinions
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37.

38.

39,

40.

The research process has the following stages.
What is the correct sequence of them?

1. Research Proposal

2. Data Collection

3. Research Reporting

4. Data Analysis and Interpretation
5. Define the Problem

6. Research Design

a. 1,234,556

b. 5,6,2,4,3,1

c. 5,6,1,2,4,3

d. 5,1,6,24,3

Look at the following potential studies and

consider which indicates that a case study

might be appropriate.

a. When you want to find out the effect of
maternal alcohol use on infants.

b. When you want to find out the effect of
parental education on children’s achievement

¢. When you want to find out how a nursery
organises its outdoor provision

d. When you want to find out whether there is
a correlation between summer-born
children and later achievement

When would it not be appropriate to use a
questionnaire?

a. Astudy looking at the level of knowledge of
100 early childhood practitioners about the
key person system

b. Research involving 150 early years settings
on the number of staff they have educated to
degree level

¢. Research investigating the views of six
practitioners in a setting where there has
been a change in the settling-in policy

d. Astudy looking at parental satisfaction in a
‘chain’ of 12 nurseries.

What is meant by the term ‘autocthnography’?
a. Research which is done automatically
b. Ethnographicresearch

c. Positivist research involving testing a
hypothesis

d. Research which places the self of the
researcher firmly within the narrative
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41.

42.

43.

If the slope of the regression equation
Y="b,+b, X is positive, then

a. asxincreasesy decreases

b. asxincreasessodoesy

c. x and y variables are both qualitative
variables

d. Eitheraorbiscorrect

Imagine you conduct a t-test using IBM SPSS

and the output reveals that Levene’s test for

equality of variance is significant. What should

you do?

a. Interpret the figures m the row labelled
‘equal variances assumed’

b. Conducta Kruskal-Wallis test stead

c. Interpret the figures in the row labelled
‘equal variances not assumed’

d. Collectmore data

Imagine you conducted a study to look at the
association between whether an expectant
mother eats breakfast (or not) and the gender of
her baby. Cramér’s V = .22. How would you
interpret this value?

2. There is a medium to large association
between the gender of the baby and whether
or not the mother ate breakfastevery day

b. 22% of the variation in frequency counts of
baby gender (boy or girl) can be explained
by whether or not the mother ate breakfast
every day

c. There was a small to medium association
between baby gender and whether the
mother ate breakfast every day

d. 2.2% of the variation in frequency counts of
baby gender (boy or girl) can be explained
by whether or not the mother ate breakfast
every day

10
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44. Mediation has occurred when )

45.

46.

47.

a.

£ oop

The strength of the relationship between a
predictor variable and an outcome variable
1s increased by including another variable
as apredictor

The strength of the relationship between a
predictor variable and an outcome variable
is reduced by including another variable in
the model '

The relationship between two variables
changes as a function of a third variable

The relationship between two variables
decreases as a function ofa third variable

matched pairs t-test compares means of
participants on

different; a single measure
the same; two different measures
different; two different measures
the same; a single measure

Glejser Test is used for identifying which of the
following?

a.

b
c.
d

Autocorrelation
Multicollinearity
Heteroscedasticity

. Endogeneity

Which of the following is true about quasi-
experimental variables?

a.

Quasi-experimental variables are hidden
variables that confound the results of the
experiment

Quasi-experimental variables decrease the
external validity of findings from the
experiment

Quasi-experimental variables allow
rescarchers to make causal conclusions
from their experiments

Quasi-experimental variables are factors

that cannot easily be manipulated by
researchers

1
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48.

49.

50.

A 95% confidence interval is constructed such
that .

a. if we were able to identify the true
population value of our measure of interest,
there is a 95% chance that the confidence
interval would contain that true value

b. if we were able to identify the trué
population value of our measure of interest,
there is a 5% chance that the confidence
interval would contain that true value

. if we were to conduct significance testing,
there is a 95% chance that a significant
result would fall within the interval

d. if we were to conduct significance testing,
there is a 5% chance that a significant result
would fall within the interval

The Kolmogorov—Smirnov test can be used to
test

a. Whether scores are measured at the interval
level

b. Whether scores are normally distributed
¢. Whether group variances are equal
d. Whether group means differ

Which variant of logistic regression is
recommended when you have a categorical
dependent variable with more than two values?

a. Logistic regression

b. Multinomial logistic regression
c. Ordered logitregression

d. Poissonregression
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